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Important

Answer All Questions

Answer all questions.

Write your Index number in the space provided in the answer sheet.

When you select the response which you consider to be the best answer to a question mark your response on
the answer sheet according to the instructions given in it.

01.

02.

03.

04.

Which of the following responses is incorrect regarding characteristic features of living organisms?
1. Metabolism 2. Adaptation 3. Movement
4. Reproduction 5. Growth and development

What is the specific characteristics of water which is important in maintaining body surface cool?
1. High adhesive force 2. High latent heat of vaporization
3. High surface tension 4. High specific heat capacity.
5. High heat of fusion.

Which one of the following is incorrect regarding carbohydrates.

1. H:O ratio of all carbohydrates is equal to H:O ratio in water molecule.
2. All polysaccharides are polymers.

3. Nucleotides contain carbohydrates.

4. Branched carbohydrates are abundant in plant cell wall.

5. A water molecule removes when a glyosidic bond is formed.

Several functions of organic compounds are given below.

A - Maintaining fluidity of plasma membrane.

B - Helping for contraction of muscle fiber.

C- Transporting amino acids towards Ribosomes.
D - Transporting amino acids within blood.

What is the function or functions of protein
1. OnlyAand B 2. B Only
4. A, B and D only 5. Band D only

3. CandD only



05.

06.

07.

08.

09.

10.

Which of the following statement regarding the microscopes are correct.

1. Resolution power of a light microscope is limited due to wave length of visible light.
2. The maximum resolution power of a light microscope is 0.2 nm.
Resolution power of a microscope is a value which obtain from multiplication of magnification in
each lenses of that microscope.
4. Practically magnification of a electron microscope is 1 x 108
5. Scanning electron microscope is the most suitable microscope for the studying internal structures of
cells.

Which of the following regarding structure function relationships is correct.
Golgi body — Transporting undigested materials from the cells by exocytosis.
Glyoxisome — Involving in photorespiration.

Cell wall — prevention of bursting at turgidity.

Vacuole — Maintaining shape of the cell.

Rough endoplasmic reticulum — synthesizing of lipids.

R NS

The few statements regarding cell Junctions are given below.

A- Binding the neighbouring cytoskeleton tightly.
B - Signals and materials exchange between neighbouring cells through direct contacts.
C- Prevention of leaking of extracellular fluids through intercellular spaces.

Which of the following is the correct order of statement regarding gap junction, tight junction and anchor
junction.

1. BAC 2.ABC 3. ACB 4. CAB 5. BCA

What is the common character which is formed in both prokaryotic and eukaryotic cell organization.

—

. Ability of fixing nitrogen.

Having 70 S ribosomes.

Having cell walls with polysaccharides.

Occurring both mitosis and meiosis.

Having cells with diameter of about 10um — 100um

PRSI

Which of the following is incorrect regarding proteins in plasma membrane?
1. Help in recognition of neighbouring cells. 2. Acts as enzymes.
3. Involve in maintaining shape of a cell. 4. Act as hormones.
5. Act as receptor molecules for specific bio chemical molecules.

The following diagram shows a rough sketch of an event of a cell
division. What is the types of division and phase regarding the diagram
given below?

Mitosis, Anaphase.
Meiosis, Metaphase
Meiosis, Metaphase |
Meiosis, Anaphase |
Meiosis, Anaphase Il

voR W e



11.

12.

13.

14.

15.

16.

17.

Which of the following stage of cell cycles synthesize histone.
1. prophase 2. Metaphase 3. Anaphase 4. Telophase 5. Interphase

Which of the following statements regarding enzyme cofactors is correct.

. These are porteinous components which essential for catalytic action of some enzyme. .
2. Cofactors which bind loosely to the enzymes are irreversible in some extents.

3. Inorganic cofactors are also referred as co- enzymes.

4. FAD is an inorganic cofactor.

5. Factors that permanently and tightly bound to the enzyme is called cofactors.

—

Which of the following does not occur when the temperature in a media of enzyme reactions increase
beyond its optimum temperature.

Breakage of shape of active site of enzymes.

Prevention of binding of an enzymes active site and complementary binding site of substrate.
Breakage of hydrogen bond lonic bond, and other weak chemical bond in active sites of enzymes.
Decreasing rate of enzyme catalyzed reaction gradually.

Decreasing the rate of collisions between molecules.

v W e

Which of the following statements is not fit regarding the reaction that depend on light in photosynthesis.
1. Production of NADH
2. Absorption of energy is sunlight.
3. Catalyzing of enzyme for breaking water molecule.
4. Production of ATP.
5. Charging of chlorophyll molecule as positive.

Same event occurred in Calvin cycle are given below.

A - Regeneration of RUBP
B - Production of Gly ceralde hyde — 3 — phosphate from 1,3 — bisphosphoglycerate.
C- Combination of CO, with RUBP
D - Breaking down of 6C unstable product.
Which of the following is, the correct sequence of these events courted in calvin cycle?
. ACBD 2.CDBA 3. DBCA 4. BADC 5. ABDC

Which of the following statements regarding photo respiration and cellular respiration is correct?

Photo respiration Cellular respiration
1. need light. light does not need.
2. netyielding of energy net losing of energy
3. occur in some cells occur in all living cells.
4 Occur C0O, fixation release CO,
5. take place in chloroplast occur in mitochondria.

The electron transport chains regarding oxidative phosphorylation locates in,
1. Matrix of mitochondria

2. Inner membrane of mitochondria.

3. Stroma of ochloroplast

4. Thylakoids membranes of chloroplasts.

5. Matrix of cytoplasm.



18.

19.

20.

21.

22.

23.

24.

The total number of ATP produced by one glucose molecule during cellular respiration occurred in liver
cell is,

1. 30 2. 28 3. 32 4. 36 5. 38

Which of the following is not a main geological eon.

1. Paleozoic 2. Proterozoic 3. Phanerozoic
4. Archean 5. Hadean

Which of the following responses is unmatched regarding the process of natural selections.
1. variations
2. overproduction
3. inheritance of acquired characteristic
4. Competition and survival of the fittest.
5. Natural selection of favourable traits.

Which of the following statements regarding classification of animals is correct?
1. Classification of flowering plants based on number of stamens in a flower - Theophrastus.
2. Classification of animals according to mode of locomotion — Aristotle.
3. Classification of organisms based on unicellular, multicellular and mode nutrition — Haeckel.
4. Classification of living organisms by introducing the taxon called phylum — Whittaker.
5. Introducing a three domain system of classification.

The unsuitable statement regarding a species is,

Can be identified by using morphological criteria such as body shape, and other structural characters.
The smallest group of individuals which derived from common ancestor.

A group of organisms which bear common similar characteristics.

A group of organisms which can reproduce living, fertile offsprings by interbreeding.

The total sum of interactions done by a species with the individuals in another species.

v W N e

Archaeabacterial and bacteria.

1. Can be classified according to amount of peptidoglycan in the cell wall.
2. Are all unicellular.

3. Are about 2.5nm to 5 um in size.

4. Some species in digestive tract of other animals.

5. Most are carrying out sexual reproduction.

Some characteristics in kingdom Protista are given below.

A - Having floats
B- Having pellicle
C- Having eyespots.

Which of the following is the correct matching regarding to the organisms of Euglena, Sargassum and
paramecium?

1. C,A'B 2.B,AC 3. ABC 4.C,B,A 5. B,C A



25.

26.

27.

28.

29.

30.

An un important character of seedless vascular plant is,
1. Evolution of leaves.

2. Evolution of roots.

3. Heterospory

4. Variation of sporophylls.

5. Transportation via xylem and phloem.

Some characteristic's of members in kingdom plantae are stated below.
- Gametophyte is a photosynthetic, independent plant.

- gametophyte is dioecious.

- photosynthetic sporophyte is unable to survive indecently.

- sporophyte bears a small pores called stomata.

The group of plant with above characters is,

1. pterophyta 2. Lycophyta 3. Bryyophyta
4. Cycadophyta 5. Anthophyta

All fungi consists of,

1. Haustoria 2. Septa 3. hypha 4. chitin 5. flagella

Which of the following combination, is incorrect.?

1. Seate — Earth Worm

2. Mantle - Shail

3. Malphigian tubules - Cockroach

4. Closed circulatory system without heart - Taenia
5. Eversible pharynx - Planaria

Some features of an animal found in the environment are stated below.
- Body is covered with hard chitinous cuticle.
- No clear cephalization.
- Locomote with the help of longitudinal muscles.
- No segmentation in the body.

The above organism is,
1. Mollusc 2. An Annelid 3. A Nematode
4. An Arthropod 5. An Echinodermate

Select the incorrect statement.

Nictitating membrane is found in amphibia.

Birds have colour vision.

. Placcoid scales are in cartilaginous fish.

Reptiles are heterodonts.

Mammals use different methods of communication.

—

Dos W



31.

32.

33.

34.

35.

36.

37.

Which of the following animal groups exhibit characteristics features of internal fertilization and eggs
with shell?

. Chondrichthyes and Osteichthyes

Reptilia and aves.

. Aves and Amphibia

Osteichthyes and Reptilia

. Amphibia and chondrichthyes

—

AN S )

Which of the following does not include in dermal tissues in plant.

1. Collenchyma cells 2. Epidermal cells
3. Guard cells 4. Trichomes
5. Root hairs

Which of the following is not a common character of a meristematic cell.
1. They are living cells
2. Structurally and functionally undifferentiated
3. Have an ability of multiplication
4. Has a central nucleus and thin cytoplasm
5. They are isodiametric

Which of the following statements is correct regarding monocot root?
1. No casparian strips on the cell walls of endodermal cells.
2. Pericycle does not involve in meristematic functions.
3. No clear pith.
4. Multi layered epidermis locate as the outer most layer.
5. Collenchyma may present just beneath the epidemics.

The tissue formed by short initials in vascular cambium during secondary growth of root and shoot is,
1. Xylem 2. Vascular rays 3. Phloem 4. Cork 5. Periderm

Which of the following does not occur in guard cells during day time?
1. Providing K+ to neighbouring epidermal cells.
2. Decreasing water potential in guard cells.
3. Entering water from epidermal cell to guard cells.
4. Raising turgor pressure in guard cells.
5. Expansion of guard cells.

A factor that unaffected on the function of stomata is,
C0, Concentration in substomatal opening
Internal clock mechanism in guard cells.

. Humidity

. High temperature

. Wind

moA W N e



38.

39.

40.

41.

42.

43.

44,

Which of the following responses include structures belong to extra cellular components in a plant.
. Cell wall, plasma membrane, cytoplasm.

2. Cell wall, extra cellular matrix, tight junction

3. Cell wall, inter cellular space, Tonoplast.

4. Cell wall, lumen of tracheid, Plasma Membrane.

5. Cell wall, vacuole, extracellular space.

—_

Main constituent which may present in agueous solution which conduct through sieve tube elements in

phloem is,
1. Sucrose 2. Amino acid. 3.  Glucose
4. Hormone 5. Minerals

A group of animals colonized on land firstly is,

1. Insects, Centipedes 2. Spiders, insects

3. Tetrapods, insects. 4. Scorpions, Centipedes
5. Tetrapods, Spiders.

For each of the questions 41 to 50 one or more of the responses is / are correct. Describe which of the
response / responses is / are correct and then select the correct numbers.

If only A,B and D are correct - 1
If only A,C and D are correct - 2
If only A and B are correct - 3
If only C and D are correct - 4

If any other response or combination of responses is correct - 5

Directions summaries.
ABD ACD AB cD Any other response or combination of
responses correct.
1 2 3 4 5

Which of the followings is / are water soluble organic compound / compounds.

A) Maltose B). Inulin C). Glycogen

D). Ribulose E). Triglycerides.

Select the structure / structures which give functional contribution in maintaining shape of cells.
A) Cell wall B). Vacuole C). Cytoskeleton

D). Plasma membrane E). Cell junctions.

Which of the following phase / phases contained check point in the cell cycle?
A)G, B). G, C). M D). S E). C

Select incorrect statement.
A) Most competitive inhibitors are reversible inhibition.
B) Competitive inhibitors bind with the other region in enzyme other than active site.
C) ATP isan allosteric activator.
D) Most enzyme reactions are irreversible.
E) Lower the activation energy of the reaction by enzymes.

7



45.

46.

47.

48.

49.

50.

Limiting factor / factors of photosynthesis.
A) Carbon dioxide B). Enzyme inhibitors C). Light
D). Temperature E). Water

Which of the following product / products is / are produces during anaerobic respiratory process.
A) ATP B). NADH C). CO, D). FADH, E). H,0

Natural Classification

A) Based on few characteristics.

B) Represents evolutionary relationship based on phylogeny.
C) Developed after the study of evolution.

D) Can expand by adding more living groups.

E) The only system of classification used before 18" century.

What are the adaptation / adaptations regarding flight mode of class avers.

A) lean hind limbs B). beak without teeth. C). light body
D). high metabolism E). Bones with dense matrix

What are the main part/s belong to the bark of a plant.
A) Primary phloem B). Secondary phloem C). Periderm
D). Secondary xylem E). Primary xylem

Which of the following structure / structures are involved in increasing girth of the stems and roots during

secondary growth.
A) Vascular cambium B). Cork Cambium C). intercalary meristems
D). Apical meristem in root. E). Apical meristem in stem.
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Important ) .

Part A - Structured Essay. Answer all questions on the paper itself.

Part B - Essay, Answer Two questions only. Give clearly labled diagrams where necessary.

Part A (Structured Essay)

01). A).i. Vascular plants have three main tissue systems. Name these three tissues systems.

ii. Given below (a-f) are the six (6) types of pant cells those 'differentiated from a meristematic cell.
Answer the following questions related to those cells.

: |84
1 e

153-3

(e

&

Meristematic Cell
288 1\
i




B) i.

b) Out of the above types of tissue systems, mention in above (1). What is the tissue system
of above each (a-f) cell belong ?
Type of cell Main tissue system

a) Out of the above a-f. what are the cells that bear cell walls which impermeable to water?
(Mention relevant English letter)

Out of the identified cells from the above a-f , write a main functions for each.
Type of cell Main functions

A

ii. Draw a graph to show the action spectrum of photosynthesis.



iii. @) What are the photosynthetic pigments of higher plants?

C) i. Mention the phylum's of kingdom plantae that show following characteristics.
a) dioecious, dominant, haven't vascular tissues in gametophyte. - .......ccccooiiiiiiiiiienns
b) autotrophic, monocious gametophyte -

c) sporophyte bears stribilus, sterms are horizontally grown on the earth -

ili. There are two classes in Anthophyta. How do you identify separately these two classes from each
other, based on only external character tics of these two classes?



02). A).

iv.

Several processes of cellular respiration are shown simply in the following chart.

‘ Glucose / CsH1206 3

O =

—> Z

Citrate

XH

Cs
Compound

A. e s
B. e s
C. TP
D. TP
E. TP

ii. Write answers related to the process A.

a) WhatiSZ = s
b) 1dentify X = s
C) Whatis C3 COMPOUNT ..ot sessesesessensenes
Name an unicellular organism, that shows the process B which bears cell wall with chitin.

Name the compounds that labeled from 1-5.

Lo ettt
7O
Be o ——— et
e o ————————— oo
B e ————— ettt



v. a) Write three main incidents take place in the process D.

B) Given below are the several proteins that meet in living matter.

C) i

- Silk protein - Hemoglobin - Keratin - Immunoglobulin - Myoglobin
i. What is the type of structure of following proteins.

a) SIHKProtein s

b) Haemoglobin s

C) Myoglobin s

ii. What is the type of chemical bond that is important to maintain the structure of keratin protein?
iii. What is the type of protein of Immunoglobulin ? Write the function of it.
TYPE OF PrOLEIN — oot et e et e st be e b e e besreesbeaneenae e
Function ettt te et teeeeeEeteteaeeeen e et eaEeheeheeE e AR e eReeRe AR e AReeEe R e eReeRe R e eEeReeReeRenReeRenRenbenrenre e

iv. Out of the above, what is the polymeric compound that directly contribute to the protein synthesis
in a living cell?

v. a) What is the basic unit that contribute to the formation of above mentioned (iv) polymeric

compound?

iii. What is the reason of using a mounting medium for preparing of temporaly slide for light
microscope?

iv. Write answers related to the microscope that use to study interior fine structure of cells.
a) What is the type Of thiS MICITOSCOPE?.......coueveeereeeeresee st sssss et sssssssessaes
b) What is the material that use to stain the SPECIMEN? ...t seeens
€) What is the principle that USE O thiS? ...ttt




v. What is the chemical composition of structure that important to do the following function of an
Eukaryotic cell?
a) Maintain the exchange of substances into and outside of the cell.

C) Movement Of CNTOMOSOIMES. ..ot sssse st ssssss s s sttt ssnssns
vi. What is plasmadesmata?

i.  Name the phylums of the above organisms

Organisms Phylum
A. et ee e ereeeereeer—eeaaeeeieeea— e e it e e e e e —reaaeea e e areeareeennes
B. eeereeeeerereereseeeeaereiaeesaree e erearereareeaarre e s reeeareenreeareeenns
C. RS T PRSPPSO
D. eeeerreeeeerereeresereeeaereiaeesaree e ereaarereare e et rr e s reeeareenreearenenane
E. et ree e ee e e e —ee e eee i e e e e e b eeea—ee e re e e ee e s rae e are e s be e e reeenane

ii. Write a similar external characteristics of A and C animals.

iii. a) Out of above mentioned animals which bear chitinous exoskeleton and a calcareous
exoskeleton.
Chitinous eXOSKEIBION s
Calcareous eXOSKEIBION e
b) Out of above animals, which animal/ animals bear endoskeleton



iv. Write a main difference in the endoskeletons of the animals identified in above (iii (b))

V.

Vi.

B) i.

Some structures in animals belong to kingdom Animalia are given below. State the phylums of
those animals and give a function of each.
Phylum Function
2) NEMALOCYSIS i eeseeses sttt
D) RAAUIA e et
C) CHEEIIUM e eevee s s st a st

In biochemical evolution, Phanerozoic is one of geological eon. Name the 3 eras of that eon in
order to increase the age.

Out of the events given below, underline the events which were not took place in current era of
Phanerozoic eon
a) Origin of many primate groups

b) Origin of mammals

c) Origin of genus homo

d) Flowering plants appeared and diversified.

e) Diversification of bony fish and first tetrapods.

In which era of Phanerozoic eon the above selected events were took place. Apply the relevant
English letter to write the answer.



C) i What is meant by energy of an organisms.

ili. Enzymes act as biological catalysts, how enzymes increases their rate of reaction

iv. Some metabolic reactions take place in a photosynthetic plant cell is given below complete those
reactions using suitable words.

a) RUBP + ..o — PGA + Phosphoglycolate
b) PEP + CO, e
C) o +ATP > PEP
v. Name the enzymes that catalyze the above (a) and (b) reactions.
G SO US USRS RRPRRRRR
(o) SO

04). A).

i. Identify X an Y instruments

iv. Name the materials and instruments that you used to set the X apparatus to find out releasing 0,
volume. (except live specimen)



v.  Write two pre — strategies to prevent practical errors when take readings using Y instrument and
state 2 errors.
Pre strategies Errors that can be prevented.

B) i. Introduce following terms
a) homologous chromosomes e ruverssenssesmseRest SRR SRR RSO R RS RS RS SRR SRR e R RSBSOS RS RSSE RS RO RS
b) Chiasma formation ettt et
ii. Draw a lablled chromosome in the given space

ili. Which of the cell division maintain the genetic stability.

v. How genetic material of prokaryotic organisms (Write three points) change from eukaryotic
organisms.

C) i State the mode of nutrition of following organisms

a) Euglena S e ettt AR R AR R ARt
b) Agaricus OO OT OO PP O TP T OO O T PRSP PRSPPSO OPR PSPPI
c) Sargassum OO T TP PO PP O TP T OO O T PRSP OP RSP OBV SPRPROPROPRON

ii. Name the phylum belong to kingdom of Agaricus which haven't motor cells, aseptate, coenocytic.



ili. What is the main process in sexual reproduction of the organisms identified in the above phylum.

iv. Name a genus of fungi as a example for the following characteristics.
@) FOrm ascoSPOres WIthin @ @SCUS ........cueiieieriieiiesieesiesieniesiesiee e e ste e sae e ste e ste e e snesbe e nes
b) Form a basidium and bear dominant dikaryotic fungal hyphae. ...
) Form flagellated ZOOSPOIES .........cverveereeerrereesie st anses

v. Euglenais a protist.
What is the main characteristic that Euglena different from other protista.

10



Second Term Test — 2019
Biology — Grade 12 Part 11
Part B (Essay)

« Answer four guestions only.

05). a. Introduce a stomata and briefly describe the mechanism of opening and closing of stomata
b. State the factors affecting for the rate of transpiration and briefly explain them.

06). a. Listout the characteristics of meristematic cells.
b. Classify meristems according to the location and describe primary growth of a plant stem.

07). a. Describe the fine structure of chloroplast.

b. Explain the process of converting atmospheric €O, molecule into a starch molecule of the
photosynthesis ina Cs plant.

08). Explain the key characteristics of phylum chordate related to the skeleton, skin, locomotive
appendages, respiratory structures, reproduction and body temperature.

09). a. Mention the basic characteristics of domain bacteria.
b. Compare the basic differences between prokaryotic and Eukaryotic cellular organizations.

10). Write short notes on,
a. Bio - chemical evolutions
b. Extra cellular matrix
c. Phloem tissue of flowering plants.

11



Second Term Test -2019
Grade 12- Biology
Part 1 - Answers

L 39
2 (2)
3.(4)
4.(5)
5.(1)
6.(3)
7.(5)
8.(2)

o1). A).

9. (4)
10. (4)
11.(5)
12.(2)
13.(5)
14.(1)
15.(2)
16.(3)

17 (2)
18. (3)
19.(1)
20 (3)
21. (2)
22.(5)
23 (a)
24.(1)

Part 1

25. (3)
26.(3)
27.(4)
28.(4)
29 (3)
30.(a)
31.(2)
32.(1)

33. (4)
34. (2)
35. (2)
36. (1)
37.(3)
38. (2)
39. (1)
40. (2)

Part A (Structured Essay)

41. (1) 49. (5)
42.(2) 50. (3)
43 (5)
44.(5)
45 (2)
46.(5)
47. (5)
48. (4)

i. Vascular plants have three main tissue systems. Name these three tissues systems.

..............................................................................................................................................

.............................................................................

ii. Given below (a-f) are the six (6) types of pant cells those 'differentiated from a meristematic cell.
Answer the following questions related to those cells.

Meristematic Cell

b, ..Seaxg..duke elam ant
c. .38\ exrds i,

TR
e
Lo
Vel
o
o

.............................



b) Out of the above types of tissue systems, mention in above (I). What is the tissue system
of above each (a-f) cell belong ?

Type of cell Main tissue system
2 B YRR G s LI
b. ... VY S W SR TN A 5 X S LV
¢ . Gxownd Aisswe
e Yoscumler s we
f e xR IS v

iii. a) Out of the above a-f. what dre the cells that bear cell walls which impermeable to water?
(Mention relevant English letter)

.......................................................................................................................................

--------------------------------------------------------------------------------------------------------------------------------------------

iv. Out of the identified cells from the above a-f, write a main functions for each.
Type of cell Main functions

STronspodohion  of weter and
menerels

........................................

Maroders the Qeses eachenge [

Siwe  of the 4 o
B) i. Explain what is the absorption spectrum of photosynthesis. ? |3x25]

..... IR RO L < ' OO eSO
ii. Draw a graph to show the action spectrum of photosynthesis. lix25]
re A N
Yuie « Corveecl oadt
o
i ¢ Covyeel shepe
fPhofzsgo
~ Fhaeyis

3>
400 Sovw too Foo IWeore l?,'nﬁ"’l’l .

[ﬂw'l'S‘



iii. a) What are the photosynthetic pigments of higher plants?

et Chloxophgll o G 2. Ceno4en 8 [ it
L
..... ? ....C—.b.\..‘:’.f.‘:’.@.h!ﬁ!c\.....".......b..........'.....2(9}.0.sg"n.‘.?.ﬂ.b:i.‘j.!’.l........',{.\5...... s ‘..-...7

b) What is the basic pigment of photosynthesis out of the above mentioned pigments?
. Ch\oro@hj - G

--------------------------------------------------------------------------------------------------------------------------------------------

iv. Write two functions of other pigment except. the basic pigment.
. AbsurpHon | of light oy thed  tneluds Vevious Wave

--------------------------------------------------------------------------------------------------------------------------------

’an}koévmhm ..... Sp&c«‘rrum-&vp hetepruieecton
v. What three ways of plant leaves for capturing maximum light. ]9*__“_7'_"‘3.

..............................................................................................................................................

------------------

- |u~f.__.0n'o_of\ch.o/ lecves meay. e hoxizootaly

-------------------------------------------------------------------------------------------------------------------------------------------

Oriendted T
’) i. Mention the phylum's of kingdom plantae that show following characteristics. E

----------------------------------------------------------------------------------------------------------------------

b) autotrophic, monocious gametophyte - ... R‘T}..%.‘T.F?..p.h ‘j"’f°~ ........

¢) sporophyte bears Séwehikusterms are horizontally grown on the earth -
XY XS WE NP

d) Sporophyte bears naked seeds, vessels in xylem - G”C%Ph:j’ra

] hx2s i
ii. a) What are the stages that meiotic division takes place in plants of Anthophyta ?
,,,,, jjr) 4-)'1(, Fcrvmc.b‘oo 0& mleruspoves G0l ML g IPeYed -

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

b) Write the places where above cell division takes &ace in Anthoph)mc glants. @
sMrevvspoevengium o} Shegmens / WenSceles [ € men '
:1 ‘...m...m..w.rﬁm....i....m&.r.exmu.f&w.ﬁ.\«a.%..... ................................................ Im‘

iii. There are two classes in Anthophyta. How do you identify separately these two classes from each
other, based on only external character tics of these two classes?
T& ‘D“Qov} Skdi'\—tm / 'g‘.\‘bfow yood S\dj’ A ve

-----------------------------------------------------------------------------------------------------------------------------------------
...................................................................................................................................
-----------------------------------------------------------------------------------------------------------------------------------------------
...........................................................................

..................................................



02). A).  Several processes of cellular respiration are shown simply in the following chart.

Glucose / CgH1204 3

[ AR

@C»);H: -
— 2

r .o
€; Compound > @
5 )

CO;

X
@ C’xu ‘: @

0;

i. Name the above mentioned process A,B, C,D,E.
A . Glyeolysis -

By = GOl S INED SO QO i
f \
c. - .LeA.cycle [ krehs. tgele [ citvic aeid cyue
D. - .eleddron dvensport chein [ onidakive phophevy
~letom.
E. - .Ordakon. of.eyruxste. ). ok B
Yeectoon
ii. Write answers related to the process A. |5x28
a) WhatisZ AIP
b) Identify X nNap?

¢) Whatis C; compound P‘jWVQﬂ ! ng\“‘"c aeld |3 «2-5]

iii. Name an unicellular organism, that shows the process B which bears cell wall with chitin.

) PP A.683Y GO s
2 s Asyleldehyde
3, @ Ethyl. . 8lcehol s
N 7 2 X N T L e .S
5. o H 20 L2 S EE s



v. a) Write three main incidents take place in the process D.

BTN OLYPR-N 0 oL oW S S 28 SV SR SN O S22 5 2 Y S,
2 JESD SRS 2 B Rg L LE XY OY e tulo s
e RrO R QR0 S9N 08 AL Ry b Hve
b) How Z is formed in the processes A and C ? Phosphoryletion
MY - W KVA CEY. BN = S 1o XC2Y 21 I0 1 F s T W — [Bx2y)
B) Given below are the several proteins that meet in living matter. @
- Silk protein - Hemoglobin - Keratin - Immunoglobulin - Myoglobin
i. What is the type of structure of following proteins.
a) Silk protein = .. Se.tond XY Shessdaure / £ Pleated .
b) Haemoglobin ) UU‘-"LQ.Y’”QT\L} ....... Strmcture .
¢) Myoglobin e R - SO fxsmgfure . [Z2x25]
ii. What is the type of chemical bond that is important to maintain the structure of keratin protein?
e Hlj&ogaann As .......... s rieET)
iii. What is the type of protein of Immunoglobulin ? Write the function of it.
Type of protein - ............... k7. rodee fHve . prabesa.s . Dasosive o
Function S— Blemcnskoen...of.. . 4x xeL9n edvea. .

............................. 1 :@

iv. Out of the above, what is the polymeric compound that directly contribute to the protein synthesis
in a living cell?

v. a) What is the basic unit that contribute to the formation of above mentioned (iv) polymeric
compound?

Bibo. s @olide f i i B 2 S

b) Write' 2 other compound that consist of the above mentioned basic unit in (v) - (a)

s BLRJADLSALIL. ..o 0007 [ EAD ) cvAp?

------------------------------------

C) i. What is meant by magnification power of a microscope?

! . ¥
Ye-'e o O ecet ¢ e Sihe 1ty cetu [ -
Ne...of..an..ehled s image. She tu. Sl

ii. What is the maximum magnification power of compound light microscope?

ili. What is the reason of using a mounting medium for preparing of temporaly slide for light
microscope?

o Jo. Gverd . dehudrelion of  Specimeq

--------------------------------------------------------------------------------------------

iv. Write answer related to the microscope that use to study interior fine structure of cells. Lix2 7]
a) What is the type of this microscope?........l¥ansminisn. elecfren. Msrvite ge -
b) What is the material that use to stain the specimen? ...t 285 22 S b,
c) What is the principle that use for this? 'abeﬁmqa&l?—dwﬂ/lﬂ’q“

‘H‘ro‘“{j'“ o dHhin fpecimen

¢ and AA‘-SP\&(:\; Orn & SLyeen .

[49(?»5”!



v.  What is the chemical composition of structure that important to do the following function of an

Eukaryotic cell?

a) Maintain the exchange of substances into and outside of the cell.
PhOSPM] '},F’ (5 i Prodeins  cnd C.crboh_:l d e ke

...............................................

J2x 2%

b) Act as a center of protein synthesis.

¢) Movement of chromosomes. ..... . s

F . x2 .5 [
vi. What is plasmadesmata? bxz vl
e.fticrescopx | Chennels hich xYuna  dhrewgh @lend. et coells,

..............................

e Cahf)mm.‘c \!’\Il‘ﬂ—g’ toennmecken joe_/{wl?_/to st@)\mm cwnd
A

Jevn vy Ctus -

. J Z)X’lv.\‘l

Me x ¢ pacom do x 2y —5 OO

08). Explain the key characteristics of phylum chordate related to the skeleton, skin, locomotive
appendages, respiratory structures, reproduction and body temperature.

09). a. Mention the basic characteristics of domain bacteria.
b. Compare the basic differences between prokaryotic and Eukaryotic cellular organizations.

10). Write short notes on,
a. Bio - chemical evolutiong
b. Extra cellular matrix
c. Phloem tissue of flowering plants.

03). A). Few animalis you have studied are given below.

i. Name the phylums of the above organisms
Organisms Phylum

A. -

B. -

C. =

D. -

E. -

ii. Write a similar external characteristics of A and C animals.

iii. a) Out of above mentioned animals which bear chitinous exoskeleton and a calcareous

exoskeleton.
Chitinous exoskeleton e P U LA
Calcareous exoskeleton R L .4 LR




iv.

Vi.

B) i.

Write a main difference in the endoskeletons of the animals identified in above (iii (b)) ,
.EBndoskeleto nf.. Shark... compoSed of Qartllage

e Byitkle Stex. . Consisf of colcar ecus plates
i

............................................................................................................

o n s mexde. net. e B B hos a doveal

broln S‘C)U‘OQ S‘_gg_m@hfc& )Venr{;-ro\([sj bococfeotcohfcivf_

......................................................................................................................

Some structures in animals belong to kingdom Animalia are given below. State the phylums of
those animals and give a function of each.

Phylum Function
a) Nematocysts e Crudexra ¢ P-;g;l:gcf ..... g‘;’i é‘Q...R‘f.ch‘o‘ﬂror?/
¥ b B
b) Radula v Mol\ses. . Cﬁm '%.......Pmm..:t._._ axds
¢) Clitellum _ ¢ Annelrda o Exterhel. . fertllisaten.

In biochemical evolution, Phanerozoic is one of geological eon. Name the 3 eras of that eon in

order to increase the age. ;
e Cenoaole..era. — Mesoaolc eva —> Palaedzojc

.................................................................................................................

< '

ii. Out of the events given below, underline the events which were not took place in current era of

iii.

iv.

Phanerozoic eon
a) Origin of many primate groups

b) Origin of mammals

¢) Origin of genus homo
d) Flowering plants appeared and diversified.

e) Diversification of bony fish and first tetrapods.

e YO
In which petied of Phanerozoic eon the above selected events were took place. Apply the relevant

English letter.aﬁ write the answer.

.....................................................................................
-----------------------------------------------------------------------------------------------------------------------------------------------

...................................................................................................................................

leye,

eThe. heme..of. dn oGeonism el o paris oS

R A R R e A R T T
b) Write the sc1entEc name o??in Lankan leopard accz)rdmg ﬁ)’ the international codes.

.Pan thera, | padus  kotrya 1 Panthera. padus

———— | —




C) i What is meant by energy of an organisms.

iii. Enzymes act as biological catalysts, how enzymes increases their rate of reaction
o They. boker.  the  ackiyation  enexag..ef..S
N

-----------------------------------

—_ en) eot '

iv. Some‘?r'lebtabolic reactxo%e place in a%ﬁégsynthetic plant cell is given below complete those
reactions using suitable words.
a) RuBP +.......... (1 N - PGA + Phosphoglycolate

b) PEP + CO, S.Qxaleosefate
o) .Pixuvete. . +ATP - PEP

v. Name the enzymes that catalyze the above (a) and (b) reactions.

@ S Reabis 0. L. RUBP... Coxborylase.. @xq980 ASC. ...
1) PR CorBORG(ASE . s

04). A). Two instruments you used in laboratory are given below

N/

i. Identify X an Y instruments
Xt R ESPLIOMETEY,

-------------------------------------------------------------------------------------------------------------------

----------------------

¢ i, V{hat did you stud'nj by using the above instruments in the laboratory. gren ‘F‘%
X Datermination. .of . rate...of . respivatien . gf. (9gmnirat’s ©

-------------------------------------------------------------------------

veDetexminatien. .of. yets. . of . phete sundhe s besed

el T e ey ey et et ey
iii. What are tﬁ)cnlve spemmen%used, when yOt}Iset thmnd Y apparatus.

X1.9eminating...grean... grams. /. 3arminating. . Seecls

nnnnnnn

y.o. Pouatic. planf.. L dadulls  elant part.[.Blodeq

iv. Name the materials and instruments that you used to set the X apparatus to find out releasing 0,
volume. (except live specimen)

Kol Saludien. o Dagnaciousy tube o Stop cvafch

-------------------------------------

---------------------------------------------------------------------------




v. Write two pre — strategies to prevent practical errors when take readings using Y instrument and

state 2 errors.
Pre strategies Errors that can be prevented.
. Brection, o2 the.. ciater 2 Preyent  dissolvivg,  velessed
o dest ARG O I ke
o pdd exces MaliCy. in-et £.C9. Conanlealien hof, become
\ 8 Raigt ctor -
,..amh..&ﬁmﬁ,......ﬁgup.ma‘t. ................. Ll TS . 'PA ......
usirg Qoap ceater’ before A UEe " EBre  fenson [

B) i. Introduce following terms ~ expevi T Redte  tyap Ay bubble

maxphologreally  simylar | chromosomy
a) hor.nologous chr.omosomes ¢ - R S R L i SRS E Sls
b) Chiasma formation L o exchergrrthe Paﬁfbﬁw Qo
ii. Draw a lablled chromosome in the givenspace  hoin ~ SIS fer  Chvomatiels  ef-

C_lﬂYOMOcha_;homo loﬁouj @ hycho Somes -

~allele

. Ceh{-'TGMQY'Q ‘

k-i‘hﬁiﬁdﬂo\’ﬁ 3‘ >

¢

¢_hyomoSome X285
S —
iii. Which of the cell division maintain the genetic stability.

o My totie. divisien......

------------------------------------------------------

¢ chrasia... fermatizn,. In. meletis.. Slvisen, |
' Trdependent.  assoxtmert! in... foelefi.. vt

v. How genetic material of prokaryotic organisms change from eukaryotic organisms, * (2 poink)

o Frokompoler o Pro owyeks.... have,.... Cliomler DA and eukomels heve
dorot have

Jorot e el Oenetic. natenal_of | brokawyold,  present. . wiinim PN
Bukcayofe Cy fOPWM Precly and T eukowcfo locaks Hem  pn hucleus:
have aP:,—oldo\MUHLISNF}-)S'Pw‘f‘ﬁéhx'bfhemm%fff'd\e A Bre ein
frue: C) i State the mode of nutrition of following organisms T Fulcansoley BNA- Combire wilbe e
chromoSoms . a) Euglena -l Xohe 2 he - N‘rfc&we pr
b) Agaricus e hetero hog‘olfw '
¢) Sargassum : . P hoto OLMfG-fhvronl'u‘

ii. Name the phylum belong to kingdom of Agaricus which haven't motor cells, aseptate, coenocytic.

--------------------------------------------------------------------------------------------------------------



» 24 GOS8 povang/um duce qgenetielly olivedec
m}l%up S-’po?ﬁ erﬁm ehw'mhr?\en'f*a&_ Conclr tronng

ove fovourable
iii( —\zhat is the main process in sexual reproduction of the organisms identified in the above phylum.
o Ploagke Gomy  ond lkkawyo 9amy  occur fh 2

-------------------------------------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------------------------------------

L. Ferahion oF......254.90.5pordnGlum. hely 1y o
s »
iv. Namea &e’usof fungi as a example for the following charact risticss. D TERiS fart W
a) Form ascospores within a ascus ‘HS,PQ‘(Q” 9 ...........................
b) Form a basidium and bear dominant dikaryotic fungal hyphae. ¢ &7"! AYTCUS e

c) Form flagellated zoospores .....* e hitarclium / Allermyce

-------------------------------------------------------------------

v. Euglena is a protist.

------------------------------------------------------------------------------------------------

o, Beay onimel  and P[,cm’f feodtryes / belng __ml‘xqghopm‘

maximum 40%2.8 = |06

Second Term Test — 2019
Biology — Grade 12 Part II

Part B (Essa
< Answer four questions only.

05). a. Introduce a stomata and briefly describe the mechanism of opening and closing of stomata
b. State the factors affecting for the rate of transpiration and briefly explain them.

06). a. List out the characteristics of meristematic cells.
b. Classify meristems according to the location and describe primary growth of a plant stem.

07). a. Describe the fine structure of chloroplast.

b. Explain the process of converting atmospheric CO, molecule into a starch molecule of the
photosynthesis in a C; plant.

-10-
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